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Part  III — Vocational Subjects

Ai¨£øh C¯¢vµÂ¯À - --P¸zv¯À

BASIC MECHANICAL ENGINEERING - THEORY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version )

Põ» AÍÄ : 3.00 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 90

Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ \›£õºzxU
öPõÒÍÄ®. Aa_¨£v¨¤À SøÓ°¸¨¤ß AøÓU PsPõo¨£õÍ›h®
EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®. £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack

of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

£Sv & I  / PART - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 15x1=15

(ii) öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøhø¯z

÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.

£vÄ Gs
Register Number

!6801AIstYearBasicMechanicalEngineering!
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1. •uÀ EuÂ Gß£x :

(A) öuõÈØ\õø»°À Â£zx HØ£mhõÀ öPõkUP¨£k® EhÚi ]Qaø\ •øÓ

(B) öuõÈØ\õø»°À EØ£zv ö\´²® •øÓ

(C) C¯¢vµ £õxPõ¨¦

(D) £o¯õÍº £õxPõ¨¦ •øÓ

First Aid is :

(a) immediate treatment given at the spot of accidents.

(b) a manufacturing process.

(c) precautions of machines.

(d) safety regarding operators.

2. SÈ¢u ©ØÖ® SÂ¢u £µ¨¦PøÍ ÷u´UP £¯ß£k® Aµ® :

(A) •U÷Põn ÁiÁ Aµ® (B) umøh¯õÚ Aµ®

(C) AøµÁmh ÁiÁ Aµ® (D) \xµ ÁiÁ Aµ®

Convex and Concave surfaces can be filed with a :

(a) Triangular file (b) Flat file

(c) Half round file (d) Square file

3. ÷Põn AÍÄPøÍ 5 {ªh ~qUPzvØS AÍUPU Ti¯ P¸Â :

(A) Põ®¤÷Ú\ß ö\m (B) ø\ß £õº

(C) £õøP©õÛ (D) öÁºÛ¯º ö£ÁÀ ¦µmµõUhº

Angular measurements are done to an accuracy of 5 minutes with :

(a) combination set (b) sine bar

(c) protractor (d) vernier bevel protractor

4. £o¨ö£õ¸Îß öÁÎ Bµzøu AÍUP EuÄ® P¸Â :

(A) ¼ªm ÷Pä (B) ÷µi¯ì ÷Pä

(C) ¤ÍU ÷Pä (D) öh¨z ÷Pä

The radii of curvature of convex and concave surfaces are measured by :

(a) Limit gauge (b) Radius gauge

(c) Plug gauge (d) Depth gauge
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5. _zu©õÚ C¸®¤ß Aq Gs :

(A) 36 (B) 16 (C) 46 (D) 26

The Atomic number of pure Iron is :

(a) 36 (b) 16 (c) 46 (d) 26

6. A¾ªÛ¯zvß uõx¨ ö£õ¸Ò :

(A) hõ»ø©m (B) £õUø\m (C) ÷©UÚøhm (D) ÷í©øhm

The ore of the Aluminium is :

(a) Dolomite (b) Bauxite (c) Magnetite (d) Hematite

7. ‰ßÖ AøÓPÒ öPõsh Eø» :

(A) ªß\õµ Eø» (B) G›Áõ² Fx Eø»

(C) Gsön´ Fx Eø» (D) E¨¦}º Fx Eø»

The furnace with three zones is :

(a) Sintering furnace (b) Gas fired furnace

(c) Oil fired furnace (d) Salt bath furnace

8. Aa_ ©soÀ (Moulding Sand) P»¢xÒÍ ‰»¨ö£õ¸Ò :

(A) ø£shº (B) ö©ÊS (C) µ¨£º (D) Psnõi

The ingredients of the moulding sand is :

(a) binder (b) wax (c) rubber (d) glass

9. \õÂ ö\´¯¨ £¯ß£k® E÷»õP® __________.

(A) Áõº¨¤¸®¦ (B) h[ìhß (C) PõŸ¯® (D) GLS

Keys are made of __________ metal.

(a) Cast Iron (b) Tungsten (c) Lead (d) Steel
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10. SøÓ¢u Âø\ u¢x xøÍ°ÝÒ Aaø\ CønUS® L¤m :

(A) æ›[U L¤m (B) ø»m iøµÂ[ L¤m

(C) øhm L¤m (D) öíÂ iøµÂ[ L¤m

The fit which involves the shaft being driven into the hole with light force :

(a) Shrink fit (b) Light driving fit

(c) Tight fit (d) Heavy driving fit

11. C¯US® E¸øÍ°ß Âmh® 200 ö\.«. ÷ÁP ÂQu® 4 GÛÀ C¯UP¨£k®
E¸øÍ°ß Âmh® :

(A) 40 ö\.«. (B) 100 ö\.«. (C) 50 ö\.«. (D) 25 ö\.«.

The diameter of the driving pulley is 200 cm.  The velocity ratio of the drive is 4.

The diameter of the driven pulley is :

(a) 40 cm (b) 100 cm (c) 50 cm (d) 25 cm

12. Aa]ØS Cøn¯õP £ØPÒ öÁmh¨£mh £À¼øn :

(A) \›Ä¨ £À¼øn (B) ÷|º £À¼øn

(C) umøh¨ £À¼øn (D) ö|ÎÄ¨ £À¼øn

The gear which is having teeth, parallel to its axis :

(a) Bevel gear (b) Spur gear

(c) Rack gear (d) Helical gear

13. ªß uøh°ß A»S :

(A) Áõm ©o (B) «mhº (C) T¿® (D) K®

The unit of resistance is :

(a) Watt hour (b) Meter (c) Coulomb (d) Ohm

14. ""AÔÂ¯À ÷©»õsø©°ß u¢øu'' GÚ AøÇUP¨£k£Áº :

(A) F.W. öh´»º (B) öíßÔ L÷£¯õÀ

(C) L£õµ÷h (D) ¤¯º öÁºÛ¯º

Father of scientific management is :

(a) F.W. Taylor (b) Henry Fayol

(c) Faraday (d) Pierre Vernier
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15. C¯¢vµ[PøÍ £µõ©›UP BS® ö\»Ä :

(A) Pa\õ¨ ö£õ¸mPÎß ö\»Ä (B) {ºÁõP ö\»Ä

(C) Á›a ö\»Ä (D) £o¯õÍº Fv¯®

The expenditure on the maintenance of the machines are :

(a) Cost of raw material (b) Administrative expenditure

(c) Tax (d) Worker’s wages

£Sv & II / PART - II

SÔ¨¦ : H÷uÝ® £zx ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs 28 &US Pmhõ¯®
Âøh¯ÎUPÄ®.

Note : Answer any ten questions.  Question No. 28 is Compulsory.

16. £õxPõ¨¦ SÔ¨¦PÎß ÁøPPÒ ¯õøÁ ?

What are the classifications of safety precautions ?

17. ¤i¨£õß GßÓõÀ GßÚ ?

What is a vice ?

18. Pa\õ ö£õ¸mPÎß Âø» Gß£x ¯õx ?

What is meant by “cost of raw material” ?

19. ø©U÷µõ«mh›ß Tmk¨¤øÇ GßÓõÀ GßÚ ?

What is positive error of a micrometer ?

20. ö£õÔ°¯À £s¦PÒ ]»ÁØøÓU TÖP.

List out some Engineering properties.

21. ª¸xÁõUSuÀ GßÓõÀ GßÚ ?

What is “Annealing” ?

22. Aa_¨ ö£mi°ß ÁøPPÒ ¯õøÁ ?

What are the types of moulding boxes ?

10x3=30
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23. ©øµ°øhzyµ® GßÓõÀ GßÚ ?

Define “pitch of thread”.

24. Buõµ AÍÄ GßÓõÀ GßÚ ?

What is “Basic size” ?

25. _Ç¾® \Uvø¯ Phzx® •øÓPÒ ¯õøÁ ?

What are the methods by which power can be transmitted ?

26. L£õµ÷h°ß •uÀ Âvø¯U TÖP.

State Faraday’s first law.

27. £o B´Ä – Áøµ¯ÖUPÄ®.

Define “work study”.

28. 'V' & ¤ÍõUQß £¯ßPÒ ¯õøÁ ?

What are the uses of ‘V’ block ?

£Sv & III / PART - III

SÔ¨¦ : H÷uÝ® I¢x ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs 35 &US Pmhõ¯®
Âøh¯ÎUPÄ®.

Note : Answer any five questions.  Question No. 35 is Compulsory.

29. ‰ø» ©mhU P¸Â°ß Aø©¨ø£ £h® Áøµ¢x ÂÍUSP.

Explain the construction of trysquare with a diagram.

30. AÍÂPÒ £¯ß£kzxÁuß |ßø©PÒ ¯õøÁ ?

What are the advantages of gauges ?

31. SÔ¨¦ ÁøµP :

(A) A¾ªÛ¯® (B) Põ¨£º

Write short notes :

(a) Aluminium (b) Copper

5x5=25
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32. ö\À¾® Áõ°À Aø©¨¤À EÒÍ £õP[PøÍ ÂÍUSP.

Explain the parts of the “gating system”.

33. uØPõ¼P ©ØÖ® {µ¢uµ Cøn¨¦ £ØÔ Euõµnzxhß ÂÁ›UPÄ®.

Explain “Temporary fasteners” and “Permanent fasteners” with examples.

34. GÎ¯ £À¼ønz öuõh›ß £h® Áøµ¢x ÂÍUSP.

Draw a simple gear train and explain.

35. ]¼¨ ›[ CßhUåß ÷µõmhõ›ß Aø©¨¤øÚ £h® Áøµ¢x ÂÍUSP.

Draw and explain the construction of Slip Ring Induction Rotor.

£Sv & IV / PART - IV

SÔ¨¦ : Â›ÁõÚ Âøh¯ÎUPÄ®. 2x10=20

Note : Answer the following questions in detail.

36. (A) ÷£›[ PÇØÖ® \õuÚ® (Bearing Puller) Aø©¨ø£ £hzxhß ÂÍUSP.

AÀ»x

(B) ]|õ¨ ÷Pä £h® Áøµ¢x AÁØÔß ÁøPPøÍ ÂÁ›UPÄ®.

(a) Draw and explain a bearing puller.

OR

(b) Draw the snap gauge and explain about its types.

37. (A) ©øµ°ß £h® Áøµ¢x Auß SÔ±kPÒ ©ØÖ® ÷Põn[PøÍ ÂÁ›UPÄ®.

AÀ»x

(B) SÖUS¨£møh •øÓ°øÚ £hzxhß ÂÁ›UPÄ®.

(a) Draw and explain the nomenclature of threads.

OR

(b) Draw and explain the “crossed belt drive”.
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